@ Solving Series and Parall’el Circuits Worksheet /\/\/\/

Use the examples in your notes to help you solve the unknown values in the following circuits. Don’t
forget to include units with your answers.

1. State the three mathematical equations for series circuits that explain how current, voltage and
resistance in one part of the circuit is related to the total current, voltage or resistance (i.e. use
Vi, Vafor A): I1, I» for B); and Ry, R2 for C) ) :

A) Vr= \/= =+ N BIr= 1 ;= 15

ORr=_ P\ +P,

2. What is the voltage of light bulb 1(V1)? (show your calculations).
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3. What is the total voltage (V1) for the circuit? What is the current at the resistor (I;)?
1l

V= 4 NV V= 3V V2= 1V
It= 6A L= b A L= 6A
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4. Calculate the total resistance using the information given and your Ohm’s Lav;équations
(R=V/I). *Hint- you will only need to use Vr as the voltage for the circuitin your calculation.

{M Vr= 10V Vi=6V V=4V

RT = 92 ‘(7_ Q(:(wal,a}{ "\'C/—{'CL/Q/ V{/M *WCQ/L.
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5. Solve for all of the missing values. Use your Ohm’s Law equations (R=V/I) to solve for
resistance. V) : \ ‘ ,
(i (\’F_@_’\/___ Vi= 5V Vo= 3V LS Vrbivst
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6. State the two equations for parallel circuits that explain how current and voltage in one part of
the circuit is related to the total current and voltage for the circuit (i.e. use Vi, Va for A); and
I, forB)):

A)Vi=_V, = \= B)Ir= X1, + 1=

7. What is the voltage for light bulb 2 (V,)? What is the current at light bulb 1 (I)?

V=6V Vi= 6V Va= bV

It= 12 A Ii= 5 A L=7A

8. Solve for all of the missing values.

V= 120V Vi= (0 V Vo= Qo vV
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1 (% Ir= b & =16 A L=10A

9. Solve for all of the missing values. Use your Ohm’s Law equations (R=V/I) to solve for total

I

esistance.
Vi=_I\v V=11V Vo= WLV

l It= 2A" L= 4A L=8A




